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Part 1: Transitional levy relief
Who should qualify for relief?
Do you agree that setting out the circumstances under which a policyholder may qualify for relief in formula is the best approach?
Choose an item. 
If not, why and what alternative do you suggest?
Click here to enter text.
Do you agree that only entities paying over $100,000 in levy (under the new regime) and facing a three hundred per cent increase should qualify for relief? 
Choose an item.
If not, why and what alternative do you suggest?
Click here to enter text.
How much relief should be granted, and how should it be phased?
Do you prefer a formula-based or 'by agreement' approach to determining the amount of relief for individual policyholders?
Choose an item.
Why?
Click here to enter text.
For the formula-based approach, do you agree with proposed reductions over three years?
Choose an item.
If not, why and what alternative do you suggest?
Click here to enter text.
For the 'by agreement' approach, what matters should Fire and Emergency NZ be required to have regard to in considering the amount of exemption?
Click here to enter text.

Part 2: Levy on insurance contracts covering different types of property
Insurance on exempt and non-exempt policy
Do you agree with the proposed approach to calculating levy on policies that cover both exempt and non-exempt property?
Choose an item.
If not why? What alternative approach do you suggest?
Click here to enter text.

How onerous would it be to ascertain the value of non-exempt property?
Click here to enter text.
Insurance on residential and non-residential property
Do you agree with the proposed approach to calculating levy on contracts of insurance which cover residential and non-residential property together under the same amount insured?
Choose an item.
If not why? What alternative approach do you suggest?
Click here to enter text. 
Do you think the non-residential portion of amount insured should be calculated on the basis of floor space (m2) or value ($)? 
Choose an item.
 How should this apply to first loss policies, where different properties are mixed use with different proportions of residential?
Click here to enter text.
Insurance on exempt, residential, and non-residential property
Do you agree with the proposed approach to calculating levy on contracts of insurance which cover exempt, residential, and non-residential property together under the same amount insured?
Choose an item.
 If not why? What alternative do you suggest?
Click here to enter text.
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